Physics 1C

Midterm # 2 _

-7y 1) A 1.2 cm tall object is 50 cm to the left of a converging lens of focal length £, = 40.0 cm. A
- second converging lens, this one having a focal length £, = 60.0 cm, is located 300 cm 10 the
right of the first lens along the same optical axis.
a) Find the location and height of the image formed by the lens with focal length 40 cm.
b) This image plane is now the object for the second lens. Find the location and height of
the image produced by the second lens.
c) What is the total magnification of the system?
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Of the plate gmzh: m_.:_, at an angle 6, on the upper surface of a transp
and a 2.40 o g plane and parallel to each other. Assume an incide

M:u..:,{_c.r....g. thick slab of glass (n = 1.8).

b) /x\irwﬂ - H”m angle oﬂ.%m light inside the plate 7

¢) Cale __m the angle of the outgoing radiation with respect to the normal?
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which incident angle the reflected light will be completely polarized”

nt angle of 66 degrees
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3) The magnetic field inside a solenoid is 4.5 T. The solenoid has an inner diameter of 6.2 cm
and a length of 26 cm. Determine:
a) the number of turns in the solenoid
b) the inductance of the coil
¢) the magnetic energy density in the field
d) the energy stored in the magnetic field within the solenoid
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